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“Eomf  ATIVEOBERTIREL, EOATIVIZET SEREORRKR
f5l: vx (xePersons = Vy (HasMother(x, y) = y&FemalePersons))

i ZOATITDETOERERNFOEN
f5l: Vx (xePersons = Legs(x, 2))

R ATV FORBRKIEFET A2HTIVOZOLEOATIT) oA INS,
1
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FTIAIHME : EROATITIVOREIEIT I MELE-THY ., BRICK-TEEEZINS,
5: Persons IZIZAZEBTH BN, JohnlF—KETH5S,

WERXDIFZE VX (XEPersons /A x£John = Legs(x, 2))

nHEGRADHR: GEBSREZELLERNTIVIZET S5 —FRELTERKE

f5l: Fly(Shankar, NewYork, NewDelhi, Yesterday)

MemberOf

Yesterday

§12.5.2 FEukiwEE (description logic)

ATITVDEECHEZIYBRICEBRTESL S IR Sk, BERRY FT—U DB HRE,
YT 4V T TOERER, MBAN—RX(L TBox & Abox MNo LS. REEWI LYK, £7
D1 bOEEEREBET HRE.

TBox: ATIURDEEMFR (SubsetOf) #ZFEiR

ABox: 77> x4 FABIT HHFTY (MemberOf) ¥, ATV xH hEA TP H FOBZRGER)
% Foak

TBox & Abox Mo (%34 Ty FEREKR



XEEFEICEHT HHE

{#F3) (category). ¥ 5 A(class). 3>+ 7 k(concept)}

{iE % (property). B—JL(role)}

{#x 7 ¥ k(object), {EK(individual), $E1ZE % (domain element)}

(&1 (Domain). Thing}

Dom... $Ei%(Domain)

(fEffi= € TDA TPV FDER)

... &R (Interpretation)

T (7)'=Dom

L L=

—C (—C)'=Dom\.C'

CD (CrD)'=C'ND!'

CuD (CuD)'=C'UD'

JR.C | (3R.O)={x| Ty (x,y)ER'AyEC)}
VR.C (VR.C)={X|Vy ((x, y) ER'=YEC"}
=nR.C | (=nR.C)={x| Kyl(x, y)ER'AyECY=n}
(ZnR.C) | El*k

(=nR.C) | B

=nR (=nR)'={x| Kyl(x, )ER}=n}
(=ZnR) | B

(=nR) kS
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fl: TG BHEERBOBRABETH S
— PR EEERIE: V x (Bachelor(x) © Unmarried(x) A Adult(x) /A Male(x))

S2ak iR I8 Bachelor = Unmarried m Adult 1 Male

f5l: ROFHZEELDODR(TLHBEHRK)
— R EBEmEE: Dog(x) /\ Jy (HasChild(x, y) /A Dog(y))
sCah iR EE: Dog M I HasChild.Dog

K—IEREREOXIBEHRHER X E—DEFELTVT, TANRRBEOA TV FEXIGL
TWA I EITEER,

Bl FRELDLLSEDFLEIFTL o TULSEK (FREZHLZLZVELED)
— B EERIE: Vy (HasChild(x, y) = Male(y))

Stk iRIE: V HasChild.Male

Bl: BOFEITE+HDEAF
— B EEERIE: Jy HasChild(x, y) A Vy (HasChild(x, y) = Male(y))

st ERIE: I HasChild.Male n Y HasChild.Male

Bl AFEIZEZHED
— R EEERIE: V x (Human(x)= Ty (HasPart(x, y) /\Head(y)))
S0iRERIE: Human C 3 HasPart.Head

$% Human n JHasPart.Head &IFEKRMNELZ DT EITEE



fBl: BFMN3IANSZEH
— Pk B ERER: T 's1,52,83 (Son(x, s1) ASon(x, S2) ASon(X, s3) /\si#s2/\S1#83/\ S2#S3/\
V' s4(Son(X, Sa)=s1=S4 "V S2=S4\V S3=S4))

S0k ERIE: =3Son

Bl TEBTEEELFEBELTOWIEREFNIDLECLEELE3IANT, MEZEHLIVIEIHEROEIZTH
DENFR2ANBDESIHLEHDES]

— R FE AR EE:

Man(x) /A

351,52,83 (Son(x, s1)/ASon(x, s2 ) ASon(X, ss ) /\si1#s2/\S1#S3/\S2#S3 ) /\

— 3d,dz,ds (Daughter(x, di) A Daughter(x, dz ) ADaughter(x, ds ) Adi#dz /\ di#ds A\ da#ds ) /A
Vs (Son(x, s)=Unemployed(s) /\ Married(s) /\ Vw (Spouse(s, w)=Doctor(w))) /\

v d (Daughter(x, d)=Professor(d) /\ 3 e (Department(d, e) /\ (Physics(e) \V Math(e))))

EpUN BN
Man 1 =3Son 1 =2Daughter
V Son.(Unemployed n Married ™ V Spouse.Doctor) M

V Daughter. (Professor 1 3 Department. (Physics 1 Math))
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